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Section 3.3 Graphing Sine Cosine and Tangent Functions

1. Graph the following function for =27 <@ <27 . Indicate the Period, Amplitude, Domain, and Range:

i) y=sinx ii) y=cosx i) y=tanx

AN A

]

[
' |
| |
I I
T T
| !
| )
( |

Period: 20 Amplitude: A Period: 2% Amhlitude: "\, Period: ~\T
Domain: *cf.  Ranger' <4 <\ Domain: £ Range:-\ <4<\ Domain: x% Wi Range: v <&
iv) y=—sinx v) y=—cosx—0.5 ? vi) y=—tanx+0.5 ’
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Period: 2% Amplitude: A Period: =T Amplitude: A Period: T Amplitude: N
Domain: x¢® _ Range: A€ <\ Domain: XL Range:~\< <+ < oS | Domain: X s wi Range: - £®
2. Indicate the general formula for the vertical asymptotes of v =%anx v
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3. When the graph of v =sinxand y = cos x are drawn on the same graph for 0 < x < 27 in which quadrants do

they intersect? What are the coordinates of the points of intersection?
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4. Giventhat sin@>0and cos@ <0, what is the range of possible values of @ if 0< 8 <27 ?
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5. Indicate TRUE or‘FALSEi sin@ > 0and cos@ >0, then tan & can be either positive or negative.
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6. Given each of the following trigonometric graphs, indicate the amplitude and period
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7. If How do the intersections of ) =sin x and ) = cos x relate with the graph of y =tanx?
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8. How many units should the graph of y =sinx be shifted horizontally so that it will overlap the graph of
y=cosx? O ST Guenpn B g=2
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9. When the graph of y =sinxand y =0.5are drawn on the same graph for 0 < x < 27 in which quadrants do

they intersect? What are the coordinates of the points of intersection?
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10. What is the amplitude and period of the graph y = A4 Sin(Bx] if A=—3 and B=27
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11. Given that the terminal arm intersects the unit circle at coordinates (a,b), what is the reference angle and the

angle in standard position?
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12. If point “P” is on the unit circle with coordlnates defined by (sm é,cos 6’) what is @ in standard position?
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13. Given the identity sin 2a = 2sina x cosa, what is the value of sin 2d if cosd == and "d" is in quadrant 1?
O% rd:Z% Q!

D in2hs2md i
Find the exact value. Sinzds2d e

=2 (& )ﬂ}
) I ( \
S = LB - 3(
TN iv;o\=’Y:- e %/
| o e B gl e (Y
a‘?—b? ) - ’ ,w (a-\\» 4+ o™ \»\(A*L-A-«\,)
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15. If 0°< @ <180° and sin@ > cos G, then:

a) 0<@<45° | b) 45° <@ <90° ) 45°<6<180° d) 90° <0 <180° e) 0<0<90°
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17.If sin2a <0, cosa—sina <0, which quadrant is angle @ in?
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18. In AABC. 2cos Bcos A =sinC. What kind of shape is the triangle?
a) Right triangle b) Equilateral triangle ~ [ c) 45-45-90 triangle k d) Isosceles triangle
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19. 0< <2z what does p need to be in order for sin § > cos S to be true?

A.§<ﬁ<§andn<ﬁ<§n B.Z<B<m
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20. Angle A, B are both acute angles. Point P has coordinates (cosB-sinA, sinB-cosA) Which quadrant is

point P in?

a) I b) 11 LY
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21. sina>sinf Which of the follggwing is true?

a) If ,p are in the quadrant I, then coso>cosfa

¢) If a,f are in the quadrant III, then cosu>cosp
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b) [If 0B are in the quadrant II, then tana>tanp

S
?, what is the value of “k”?

—

d) If a,p are in the quadrant IV, then tano>tan[

of y =k COS():) at the point “S” and “R” as

o~
O/



